
matematyka kl.2

test jednokrotnego wyboru

Poziom trudności: Średni

1. 20+2=

A - 21

B - 22

C - 23

D - 20

2. 34-11=

A - 23

B - 22

C - 21

D - 25

3. 6x5=

A - 30

B - 20

C - 25

D - 15

4. 1+1-1x1:1=

B - 1

C - 2

D - 3

5. 3:3=

A - 1

B - 3

C - 2

6. 333+333=

A - 666
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B - 633

C - 655

D - 699

7. 9x0=

A - 1

B - 9

D - 81

8. 1+84-55=

A - 29

B - 140

C - 30

D - 141

9. 617+617-617-617=

A - 617

B - 1

D - 1734

10. 1+1-2=

B - 1

C - -1

D - -2
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matematyka kl.2

test jednokrotnego wyboru

Poziom trudności: Średni

Karta odpowiedzi

1. B

2. A

3. A

4. B

5. A

6. A

7. C

8. C

9. C

10. A
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